
Red 
 

1. ___ = 56 - 12 
2. 124 - ___ = 108 
3. ____ = 2356 - 458 
4. 968 - 458 = ___ 
5. 689 - ___ = 200 
6. 15202 - ____ = 13521 
7. _____ = 25698 - 5485 

 
Yellow 
 

1. _____ = 78965 - 5420 
2. 56351 = _____ - 5632 
3. 85263 - _____ = 6325 
4. 198653 - 45782 = ______ 
5. 18374 = 56983 - _____ 
6. 121326 - 98564 = _____  
7. ______ = 236985 - 45785 

 
Green 
 

1. ______ = 459652 - 326589 
2. 986523 = ______ - 256542 
3. ______ - 4756 = 85632 
4. ______ = 78985 - 23654 
5. 698989 - _____ = 58742 
6. 326589 - 45872 = ______ 
7. 457852 - ______ = 45793 


